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1. If

the

approximation.

答案:

may

2. The

seen

place

答案:

could

3. Is

答案:

正确

4. Decide

includes

答案:

正确

5. Tertiary

university.

答案:

defined



6. Unbalanced

答案:

refers

7. This

due

答案:

can

8. Choose

rocket

kilometers

(25,023

答案:

at

9. Choose

mechanical

____________

答案:

as

10. Choose

sentence.Newton’s

to

答案:

states



11. Choose

sentence.Newton’s it

often

答案:

written

12. Choose

sentence.Because

units,

models.

答案:

in

13. Choose

sentence.So

rocket’s es

simply

答案:

that

14. Which

答案:

Numbering

equations

units

15. Acceleration



答案:

means

16. Assertiveness

other

aggressive,

答案:

viewed

17. The

答案:

called

18. Water

ratio

答案:

is

19. The

答案:

by

20. Which

答案:

Applying

master’s



21. Who

答案:

Specialists_Professors_Supervisors

22. What

答案:

Reasonable

importance

23. What

答案:

Future

24. The

research

答案:

persuade

25. What

introduction

答案:

Background_Summary

research



26. Please

F(false)according

research

答案:

错误

27. Please

F(false)according

states

for

答案:

正确

28. These

having

答案:

with

29. Coal

stable

答案:

at

30. Manufacturing

domestic

答案:

to



31. Chinese
total

答案:
for

32. Japan
Figure

答案:
in

33. About
were

答案:
between

34. ______

答案:
of

35. Decide
and

答案:

错误

36. Decide
tables



答案:

正确

37. What

答案:

Reviewing

study_Announcing

the

research

38. Choose

references

答案:

a.

methods_c.

39. This

speed

absorption

the

答案:

Implication

40. The

bubble

答案:

Results



41. An

in

between

writer

答案:

Methodology

42. The

determine

writer

答案:

Research

43. A

答案:

source

44. An

p____

答案:

publishing##%_YZPRLFH_%##publication

45. To

original

答案:

credit



46. The

are

答案:

alphabetical##%_YZPRLFH_%##alphabetic##%_YZPRLFH_%##alphab

et

47. The

the

presents

答案:

Background

48. Citations

答案:

错误

49. Unintentional

答案:

错误

50. Citing

答案:

错误

51. Citing



答案:

正确

52. As

答案:
predicting

hypothesis

53. A

答案:

all

54. The

2017”

答案:

chronological

55. About

correct?

答案:
To

included.

56. In

答案:

argumentation



57. Each

答案:

错误

58. Compared

答案:

正确

59. In-text

rather

答案:

错误

60. When

given

答案:

错误

61. When

of

答案:

sequencers

62. To

(are)



答案:

visual

63. What

答案:

Equipment._Product_Material

64. Decide

required

答案:

错误

65. Decide

process

答案:

正确

66. Escherichia

infection

答案:

正确

67. The

policy

failures



答案:

错误

68. Conceivably,

contrasting

答案:

正确

69. Viewing

alcohol

答案:

正确

70. Furthermore,

答案:

错误

71. One

that

susceptible

答案:

正确

72. It

drinking

young



答案:

错误

73. Implications

consumption

on

commercials

答案:

正确

74. This

interaction.

答案:

正确

75. It

a

答案:

错误

76. It

答案:

believed

77. Drinking

behaviour



答案:

often

78. It

held

答案:

seems

79. However,

sample,

provided

on

unreliability

Slater,

答案:

suggesting

80. These

consumption

condition

答案:

may

81. The

whether

material

答案:

tends



82. Decidewhether

seems

答案:

正确

83. Decidewhether

the

this

people.

答案:

错误

84. Decidewhether

duration

correlated

can

答案:

正确

85. Decidewhether

taken

soils

答案:

正确

86. Decidewhether

features

age.

答案:

错误



87. Decidewhether

to

that

答案:

正确

88. Decidewhether

Clifford

others,

permafrost

答案:

正确

89. Decidewhether

year

clearly

答案:

错误

90. Put

data

additional

determineDiscussionIndividuals

typically

protective

protective

common

natural

have

This

public

modeling



以上内容仅为本文档的试下载部分，为可阅读页数的一半内容。如

要下载或阅读全文，请访问：https://d.book118.com/94715412406

2006132

https://d.book118.com/947154124062006132
https://d.book118.com/947154124062006132

